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Worksheet 1

5m= cm + 400 cm
238 cm = m + 38 cm
18 m35cm= cm

30cm+70cm = m

Arrange the objects from heaviest to lightest:

Table, chair, telephone, cot

Arrange the objects from highest capacity to least capacity:
Spoon, jug, waterbottle, bucket

Which of the following objects is the lightest?

Stool, toffee, paper weight, notebook

Which of the following objects is the heaviest?

Cake, burger, sandwich, cupcake

Which of the following containers holds the most?

Kettle, cup, bowl, mug

Arrange the following from most volume to least volume:
Medicine in a spoon, milk in a glass, ink in the pen, petrol in the car tank
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Worksheet 2

2m= cm

401 cm = m+ 1cm
25m8cm= cm
140 cm + 60 cm = m

Arrange the objects from lightest to heaviest:

Pair of scissors, paper clip, pencil

Arrange the objects from least capacity to highest capacity:
Cup, tablespoon, bowl, bucket

Which of the following objects is the lightest?

Chart paper, sheet of paper, piece of cardboard, notepad
Which of the following objects is the heaviest?

Chalkpiece, duster, crayon, pen

Which of the following holds the most?

A can of paint, a carton of juice, a bottle of ink, a cup of coffee

Arrange the following from most capacity to least capacity. Number the container with
the largest capacity as 1, and so on.
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Answers to Worksheet 1

1. 100 2. 2
3. 1835 cm 4. 1
5. Cot, table, chair, telephone 6. Bucket, jug, waterbottle, spoon
7. Toffee 8. Cake
9. Kettle
10. Petrol in the car tank, milk in a glass, ink in the pen, medicine in a spoon

Answers to Worksheet 2

200
2508 cm
Paper clip, pencil, pair of scissors

4
2
Tablespoon, cup, bowl, bucket
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Sheet of paper Duster

A can of paint
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